Al A

20238 20A LEHSIH WSt
2N nEW
ZE: ADID st ISSS FE(DSUER/USDS - SRSIE
R snsEedst (&9 &
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
wWEN 12,780, 155 8,784,064 3,996,091
= 1,744,600
g 184,000
J| 262,000
& 1,204,502
Al 9,385,053
AR ol WESS S (NEYEF/USUE - S 12,085, 150 8,155,714 3,929,436
2SI|EH)
= 1,744,600
g 184,000
J| 262,000
& 1,204,502
Al 8,690,048
Hsnsedst 6,716,741 6,809,294 A92,553
= 244,600
g 184,000
J| 262,000
< 554,502
Al 5,471,639
DNEA SHHG KAEH 245 15,000 0 15,000
= 4,500
== 3,150
Al 7,350
301 LBIEX = 15,000 0 15,000
= 4,500
== 3,150
Al 7,350
14 JD|EIEAS 15,000 0 15,000
= 4,500
& 3,150
Al 7,350
=01l A 15,000 0 15,000
= 4,500
& 3,150
Al 7,350
O SMEHG KRB 2435}
100,000& *150H 15,000
= 4,500
& 3,150
Al 7,350
328 HA XAF 360,000 400,000 240,000
g 180,000
< 54,000




2N WS
ME: AIZD BHEHE DSS FE(DSLSR/HSDS - 2RSIIE)
¢ H=snsSeyst (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
Al 126,000
308 ArXISHMSO0IN 360,000 400,000 240,000
sy 180,000
= 54,000
Al 126,000
11 SI2SHHEHE AR EALSH] 360,000 400,000 240,000
= 180,000
& 54,000
Al 126,000
=0 A 360,000 400,000 240,000
s 180,000
& 54,000
Al 126,000
OZANEUSIY(s38HA) 29
360,000,000 360,000
= 180,000
& 54,000
Al 126,000
S8 BAl XA 27,420 27,149 271
= 4,000
== 7,026
Al 16,394
301 Let8dZ 27,420 0 27,420
= 4,000
& 7,026
Al 16,394
14 JIEI2 &3 27,420 0 27,420
= 4,000
& 7,026
Al 16,394
S0 &t 27,420 0 27,420
iy 4,000
= 7,026
Al 16,394
Os0HEXSY SILEA 27,420,000 27,420
= 4,000
& 7,026
Al 16,394
238 gAl XN (KM= 63,000 58,000 5,000
301 Let8EZ 63,000 0 63,000
14 J|Et2 43 63,000 0 63,000
20 & 63,000 0 63,000
OsHEXSY SIYEA 63,000,000& 63,000




2N nEW
M A2 ote NESRE HE(WNEYSF/HENE - SFSIIE)
R snsEedst (&9 &
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
WM AIZHAA 177,800 27,800 150,000
201 LB AH| 2,800 2,800 0
01 AtR2teldl 2,800 2,800 0
=0 A 2,800 2,800 0
OuEeNEo5 aallrg
70,0002 x20H 1,400
OSAIRTIRIDS EA AT
70,000 x5 x4 3| 1,400
207 AP IR 175,000 25,000 150,000
01 A= 175,000 25,000 150,000
S0l A 175,000 25,000 150,000
OAMUHHA =8H 2 29 2835 2
oF ARE 150,000, 000& 150,000
OAILHHA =AM A A=
25,000,000& 25,000
WSAA EENESH T2 144,000 46,000 98,000
= 72,000
== 21,600
Al 50,400
405 KHASRISHI 144,000 46,000 93,000
= 72,000
& 21,600
Al 50,400
01 AL = EF SH| 144,000 46,000 98,000
= 72,000
== 21,600
Al 50,400
=0 A 144,000 46,000 938,000
= 72,000
== 21,600
Al 50,400
QusSi E8nsEst =¢
144,000,000& 144,000
= 72,000
o= 21,600
Al 50,400
WEA SENSEsE 29 728,200 691,964 36,236
J| 262,000
Al 466,200
307 21z2to|™ 728,200 691,964 36,236
J| 262,000
Al 466,200
05 DIZtR(E 2 728,200 691,964 36,236
J| 262,000
Al 466,200




2N WS
M AQID ENHole nS2s HE(USLER/UESUS - SFSIIE)
¢ H=snsSeyst (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
20l & 728,200 691,964 36,236
J| 262,000
Al 466,200
OWEN SENELE 2
728,200,000 728,200
J| 262,000
Al 466,200
NSAx SEnSt 29 A 48,800 0 48,800
== 48,800
307 QIZ2t0| A 48,800 0 48,800
= 48,800
05 DIZIRIELZ 48,800 0 48,800
= 48,800
S04 & 48,800 0 48,800
= 48,800
OQusekt Eg8ussH 29 X2
48,800,000& 48,800
= 48,800
C=EAl UIXHIE R A 112,500 0 112,500
& 33,750
Al 78,750
307 QI2t0| ™ 112,500 0 112,500
== 33,750
Al 78,750
02 DIZHBAAIEER 112,500 0 112,500
& 33,750
Al 78,750
204 & 112,500 0 112,500
= 33,750
Al 78,750
OZAl tiXtElE X 1,500,000 *75CH 112,500
& 33,750
Al 78,750
HASSAIS HEXR(EX) 1,609,800 956,384 653,416
& 300,360
Al 1,309,440
307 QIZ2t0| ™ 1,609,800 96,334 653,416
= 300,360
Al 1,309,440
09 2HAHEXS 1,609,800 956,384 653,416
& 300,360
Al 1,309,440
20i & 1,609,800 956,384 653,416
= 300,360




SN DED
M AQID ENHole nS2s HE(USLER/UESUS - SFSIIE)
¢ H=snsSeyst (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
Al 1,309,440
OHASEMNY HATIB (B4l &)
1,500,000,000 1,500,000
& 267,420
Al 1,232,580
O2xEMA 22024 HE XA
109,800,000 109,800
& 32,940
Al 76,860
HASSAIY THE X 460,000 544,000 A84,000
307 2IZt01A 456,000 540,000 284,000
02 RIZHBAAIEER 456,000 540,000 A84,000
=0 A 456,000 540,000 284,000
OAUHA WSIHE gol8x
29,000,000 = 12& 348,000
OAlUHA 2285 XI#
9,000,000& x12& 108,000
308 AHXISHMSO0IN 4,000 4,000
07 XXSHAH2HE2EEZ 4,000 4,000
S0 &t 4,000 4,000
OHAZSAIE R BL-XNE2S HEE2
o 2U=3 4,000,000 4,000
HAMEAIAE(BIS) Y 199,500 130,261 69,239
201 LEr23d| 104,500 4,500 100,000
02 323l 104,500 4,500 100,000
201 & 104,500 4,500 100,000
OHAFZAIAE(BIS) 29 & RAES
100,000,000 100,000
OAUHA HRAHHIIBIT) & &I
2= 4,500,000& 4,500
401 AMEBIZ U] 95,000 95,000
01 A&t 95,000 95,000
S04 & 95,000 95,000
OHAFEAIAE(BIS) AR 2= & Wi
9,500,000 * 10K 2~ 95,000
SHEEAl 2435 K& 200,550 0 200,550
& 60, 165
Al 140,385
402 QIZ2ERH=01H 200,550 0 200,550
& 60, 165
Al 140,385
02 DIZENEAIE B X (01 &AA) 200,550 0 200,550
& 60, 165
Al 140,385
204 & 200,550 0 200,550
= 60, 165




2N WS
M AQID ENHole nS2s HE(USLER/UESUS - SFSIIE)
¢ H=snsSeyst (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
Al 140,385
OBHEEAl 2435 XA
500, 000 *573CH+70% 200,550
& 60, 165
Al 140,385
HU2EAIE 2483 XA 5,000 3,000 2,000
201 LEr23d| 5,000 3,000 2,000
01 AtS2teltl 5,000 3,000 2,000
S04 & 5,000 3,000 2,000
OAlUHA 23-HE Wi
5,000,000 5,000
2l RFEE2 AR 1,800,000 2,040,000 240,000
307 2IZ2t0|A 1,800,000 2,040,000 A240,000
9 2+LASES 1,800,000 2,040,000 240,000
=0j ot 1,800,000 2,040,000 A240,000
O+l 87 253
150,000,000& = 12& 1,800,000
HatHA & 184,000 765,000 /581,000
= 92,000
& 27,600
Al 64,400
402 QIZ2HR=01H 184,000 765,000 A581,000
= 92,000
& 27,600
Al 64,400
02 DIZENEAIE B X (01 &AA) 184,000 765,000 A581,000
= 92,000
& 27,600
Al 64,400
S04 & 184,000 765,000 A581,000
= 92,000
& 27,600
Al 64,400
OMAHA & 184,000, 000& 184,000
= 92,000
& 27,600
Al 64,400
EHAl JIEZH S| SAlHl K& 75,900 78,012 22,112
307 Q120 A 75,900 78,012 A2,112
02 RIZHABAAIEE R 75,900 78,012 A2,112
S0j &t 75,900 78,012 A2,112
OEAl JIEZH S2D| S4ldl X2
11,0002 +575CH* 12& 75,900
EHAIZRE K& 91,000 130,000 239,000




2N WS
ME: AIZD BHEHE DSS FE(DSLSR/HSDS - 2RSIIE)
¢ H=snsSeyst (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
= 27,300
Al 63,700
301 Let8dZ 91,000 130,000 239,000
= 27,300
Al 63,700
14 J|Et2 &3 91,000 130,000 39,000
= 27,300
Al 63,700
20 & 91,000 130,000 A39,000
= 27,300
Al 63,700
OEAl Z2XE4A K& 91,000,000& 91,000
= 27,300
Al 63,700
EHAIZRE Kl (RERIZ=DL 209,000 690,000 A481,000
301 LetEEZ 209,000 690,000 A481,000
14 JIEt2 A3 209,000 690,000 481,000
20i & 209,000 690,000 A481,000
OEAl 2XEA K& 209,000,000 209,000
BIANR3 It XA 9%,600 72,120 24,480
& 28,980
Al 67,620
307 2IZ2t01A 96,600 72,120 24,480
& 28,980
Al 67,620
02 BIZIBAAIEE R 9%,600 72,120 24,480
& 28,980
Al 67,620
S0 &t 96,600 72,120 24,480
& 28,980
Al 67,620
O8ARZ ItExg K&
14,0002 x575CH* 12& 96,600
& 28,980
Al 67,620
BAIRZ JIEx22 XA (KAFI 41,400 85,104 A43,704
307 QIZ2to| ™ 41,400 85,104 A43,704
02 DIZIBAAIEE R 41,400 85,104 43,704
S0/ & 41,400 85,104 A43,704
OEARZ ItEx3 XA
6,000 5750 x 12& 41,400
BHAISHAEE Z2|AIAE 29 7,701 6,400 1,301
308 AHXIEHHISOIH 7,701 6,400 1,301




me==i:
AlBIDL SHGlE WERS 2 (WEYESFR/HEUE - S2FSIIE
SEREE L] (e @2
K- BB I3 - MISAI - HaS (%'%fj:) @%%gm;ﬁ% D=2
11 SOIZASHUSEAERE AN 7,701 6,400 1,301
S0 A 7,701 6,400 1,301
QA S S ZHLIAIAE(TIMS) 2HALS
7,701,000& 7,701
EHAl HIZEXIES X XI& 630 0 630
& 189
Al 441
307 2120l ™ 630 0 630
= 189
Al 441
02 QI2ZIAAAIRE S 630 0 630
& 189
Al 441
S0 A 630 0 630
< 189
Al 441
OB Al HIZXIEe AX|] K&
180, 000 *5CH*70% 630
& 189
Al 441
BHAl FADISEX X X3 58,940 0 58,940
o= 17,682
Al 41,258
402 OIZHRFE0| A 58,940 0 58,940
& 17,682
Al 41,258
02 SIZFXIEAIHE (0| THL) 58,940 0 58,940
== 17,682
Al 41,258
=0 A 58,940 0 58,940
& 17,682
Al 41,258
OEAl SAMIISEX X K&
200, 000! *421CH*70% 58,940
& 17,682
Al 41,258
HAH A 175,757 84,818 90,939
HE DNEXE 23 =& 39,680 38,680 1,000
201 LEt2AH| 8,680 7,680 1,000
01 AF22t2lt] 8,680 7,680 1,000
=20 A 8,680 7,680 1,000
OuUENE E22 MZ 5,000,000 5,000
OUSXTEY A2 233 AHIBA
50,000 7P x23| 700




[
i’
oF
ol

89,939
88,939
88,939
88,939

1,000
1,000
1,000

3,909,760

4,440
4,440
4,440
4,440

1,000
1,000
1,000

(1ZH)

& E T 0f AHY

30,000
30,000
30,000

46,138
41,138
41,138
41,138

5,000
5,000
5,000

934,120

6,960
6,960
6,960
6,960

980
2,000
1,000
1,000
1,000

Ofl ok
(BHH)

1,000
30,000
30,000
30,000

30,000
136,077
130,077
130,077
130,077

91,819

82,589

8,875
355
38,258
34,412

148
6,000
6,000
6,000

3,698

6,000

4,843,880
1,500,000

H

650,000
2,693,880
11,400
11,400
11,400
11,400

Al

=l

=2
-
*/H D

=
o
2

2|

.

- SRI(3) - HEAY

oM

. Mz
01 2o

-

el

I

10D

1,000,000&

01 Al&dl

-

<J

il

30,0002 1,0007H

HI(SHOEA )

S|

PSS
=3

PRl

A

He=z

0

O
04 JI2tHIZ2 2 At

202 04l

401 AlEHIZL 200

-

<J

il

i

oJ

Kl
OH

86,0303 10 *150%+64

jum §

o

-

A
100
iy

%3, 495%%12.27%

fui)

86,0303 10402

82,589,000 *10.745%

ct

2,589,000

o=20

no

jilg

y
100
i

*3.495%*12.27%

2|

34,412,000& *10.745%

-

<J

il

6,000,000

101 QI2H|

307 212t01H

£AM

01 AtZ2elH]

-

<J

M

250

350

o4
o

2| x5

=

=]

70,000




=N

mi=nn!
& Al ot nSE2s FE(WSUASF/HSLS - 27SIIE)
&l WESsE e (EEREE]
) _ oM e, hoH -
SA - BB - S9I(EN) - MRAL - BYS S s HIDEY
SFEEEEPNEEEERYIES=)
150,000&x9 & +63| 8,100
OBSLHEIIAAFIAS A
50,0002 x9 & +63| 2,700
nsSASS AlZIHA 788,000 572,000 216,000
201 Let2d| 76,000 120,000 A44,000
02 S3=gH| 76,000 120,000 44,000
=0l & 76,000 120,000 A44,000
OLEANEE HIILS(2700HA)
5,500,000&«12& 66,000
ONENSE FIILH VHEY +48
10,000,000 10,000
401 AlEHIZL S| 712,000 452,000 260,000
01 A&l 712,000 452,000 260,000
=0l &t 712,000 452,000 260,000
OuSXotXt=AtHel == &SI 0I=
WHISA 90,000,000 90,000
Oustls Asst HEES
60,000,000& 60,000
OULEdSS FNESSA(17H)
65,000,0002 65,000
OULENSS FNE+SBAH27H)
65,000,0002 65,000
Oustlss EF THIA
20,000,0002 20,000
OuSoHNAIE S8 &R & IHIAE
10,000,000 x24I 2= 240,000
OL= WSAIZE JHl 2AIEAHES
22,000,000 22,000
OggsS=oHH & UEAIZE JHISA
60,000,000 60,000
OS=0=g+ 2 Dia S8
=N 45,000,0003 x20H 2 90,000
WSAHTAE 2= 2 FHIAS (D EAIY) 1,000,000 0 1,000,000
= 500,000
Al 500,000
401 AlEHIZL O] 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 A&l 1,000,000 0 1,000,000
= 500,000
Al 500,000
=0l & 1,000,000 0 1,000,000
= 500,000
Al 500,000
OAl ZAH XIS WSHA Ko
1,000,000,000& 1,000,000
= 500,000
Al 500,000
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mE==mi;
A2 EHote WESS AE(NSYSF/UHEWS - 28SIIEH
nssad o o =R
S - HY . O9(3) - HISAY - BA= S S =2t
o= 50,000
Al 50,000
401 AlIEHIYL20HE| 100,000 0 100,000
< 50,000
Al 50,000
01 Al&Hl 100,000 0 100,000
o= 50,000
Al 50,000
201 & 100,000 0 100,000
= 50,000
Al 50,000
Oelol 5749 o 100,000,000& 100,000
& 50,000
Al 50,000
SEMad AL (LSHNHER 2Y) 130,000 120,000 10,000
QIZ2HoI M 130,000 120,000 10,000
05 RIZIRIES 130,000 120,000 10,000
=04 130,000 120,000 10,000
ODSHEHER pI29ea
130,000,000& 130,000
SusSHA 2= 2,500,000 0 2,500,000
= 1,500,000
& 100,000
Al 900,000
401 Al HIZ SCHYI 2,500,000 0 2,500,000
= 1,500,000
& 100,000
Al 900,000
01 A&l 2,500,000 0 2,500,000
= 1,500,000
== 100,000
Al 900,000
201 & 2,500,000 0 2,500,000
= 1,500,000
& 100,000
Al 900,000
OXNsEUSHMA(ITS) Jlet ALY
2,500,000,000& 2,500,000
= 1,500,000
== 100,000
Al 900,000
SASE HRMH 345,772 324,482 21,290
OIANEHE sd#= XA 320,000 300,000 20,000
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SN NSt
M HY2YGH(nS) (OIEHIIE
&l J12Z (chel &2
S - EHY - BR(31) - NSAY - BaS S SR b=
Jl2&l 23,412 25,360 1,948
J|l=2&l 23,412 25,360 21,948
201 et2AH| 17,612 17,560 52
01 At=222teltl 16,812 16,760 52
=0 A 16,812 16,760 52
O3 | 5,000,000& 5,000
OBAS ATl 7,000, 0002 7,000
ONSa ZIIEE| X2
40,0003 12& 480
OAMER4 =AD| dUZE 200,000 *12& 2,400
O&=J| Xtz %0
o d=D| 25,0002 x12& 300
o0 dSEH =D 55,000& 12 660
Otlzasg 183,000& *4=D| 732
Onvdlz 20,0003 12 240
02 =323l 800 800
=0 A 800 800
O S =H| 200,000& x4& 800
202 04| 1,000 3,000 A2,000
01 2] 1,000 3,000 22,000
20i & 1,000 3,000 A2,000
OFAM2Z =UH0bI 1,000,000& 1,000
203 RF&d| 4,800 4,800
M EASIHRFA 4,800 4,800
204 & 4,800 4,800
OFN2Z PRFLH| 400,000 = 12& 4,800
HRES(WEM)(UELEF/UELE - EFSIIE) 671,593 602,990 68,603
LHEHHXIZ 671,593 602,990 68,603
FXE AMEEES XA 671,593 602,990 68,603
701 JIEtSIHSHES 671,593 602,990 68,603
01 JIEISIHIEES 671,593 602,990 68,603
S0 &t 671,593 602,990 68,603
OFXEEYH MES(MAM SAIX
oZ) 4,797,090,001,000& *0. 14%*10% 671,593




